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- "“‘E'ﬁﬁmaﬂnm\wmﬂmm
(@) mmm
®) FE ¥3% ot Ptz

(© F5%, Nrezs, gredm, whaeas
3R sid=f s

(@ F=w, Drews, e, whadas
3R TR

2. 99 #, IigIeh fvr=iias (intercalary
meristem) VWIA: wel R fR¥q drar 27

(@) o
(b) @ F qid

(c) TUigEH
(d) TAB-3

3. tdi § 5@ F FedgEh Tem F forg Eem w
YFR F1 By Saw @@ ¥ FrefiRea §
FA-H SEAH Fas Afaa BN § oS
#rar 87
(a) afef@#1 (Tracheid)

(b) aAEF (Vessel)
(c) SEAR Ygds (Xylem parenchyma)

(d) SgcTq $IgsR (Xylem fibre)
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4. 11 Q 22 3 33 Q Y TR g

sfdu® wd @ifa ¥ wE g vhag
rad a7

(@) 66 Q
(b) 22 Q
) 12 Q
d 6Q

s.muﬁnﬁqﬁgq—mqﬁﬁmﬁwm

(red live wire) 3R 1t IeRfT a7 (black
neutral wire) % ¥ rm.s. fEiR
(potential difference) f3raaT 2rar 27

(@ 160 V
(b) 220V
(c) 300V
(d 410 vV

6. TN T IR PP WW wEm: fRE W

yTRa B &7

(@) TR e iR fEe
(b) ToEsa IR arEThrT G
(c) oA fawss iR demm
(d) A deEm iR faass

7. @ 3R g awt

(@) wﬁm:aﬁvﬁmmmg
® T A ST S SR A &
(c) T i srgeed at & '
(d) ag & A} oy A # &




L In plant cells, RNA is present in 4. Three resistors of resistances 11 Q 22 Q
and 33 Q are connected in parallel.

(@) cytoplasm only Their equivalent resistance is equal to

(a) 66 Q
(b) nuclei and cytoplasm only
(b) 22 Q
() nuclei, cytoplasm, mitochondria, € 12 Q
chloroplast and  endoplasmic
reticulum (d) 6 Q

5. The r.m.s. potential difference between
the red live wire and black neutral wire
in Indian domestic electric supply is

(d) nuclei, cytoplasm, mitochondria,
chloroplast and ribosomes

(@ 160V
2. In grasses, intercalary meristem is
usually located at (b) 220V
(c) 300V
(a) root tip '
(d) 410V

(b) lateral sides of stem
6 The hydrogen bomb and the uranium

(c) base of leaves bomb are based, respectively on
(a) nuclear fusion and fission

(d) shoot tip
(b) fission and thermonuclear fusion
(c) geothermal fission and fusion

3. Xylem is a type of complex tissue in _ .
plants for upward conduction of water. (d) geothermal fusion and fission
Which one of the following xylem tissues

consists of living cells? 7. Sound and light waves are

(a) respectively longitudinal  and

(a) Tracheid )
transverse in air
(b) Vessel (b) respectively transverse and
longitudinal in air
Xylem parenchyma .
(c) Xylem p (c) both longitudinal in air

(d) Xylem fibre (d) both transverse in air

JNBY-D-GNL/59B s [P.T.O.
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}) 12 m
b) 24 m
(c) 36 m
(d) 48 m

9.m-mm%wﬁmmmmﬁa;

NBCH
Na oH

qEeT w717 27

(a)ﬁ%ﬂﬁ?@mmﬁﬁzﬁnm
SIS S|

(b) ﬁ%m*@ﬁzaﬁzmmm
e

(c) mﬁqmaﬁmgaﬁtmmm
e

(d) wifgn wERTEE o wewEfE s @
"f'ﬁ 1

10. ﬁw%ﬁaama‘iqzﬁaniﬁﬁm:

HIfd Al 37 % Wt B g Y T

1. [H;0") =1 & Gigwl /qmn (volume) #
gfg &t 2

2, Hﬁamﬁwﬁ-tﬁiﬁamm%q
3. S A 3 iR-oi e wifae

I A A FH-A/B-8 FUH wd 2/

(a} 1,23ﬁ-{3

(b}-ar,-aralaﬂtz
(c/ '3»‘383
(d) a2 3R 3
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11. ﬁnmweﬁ%hwwaﬁmﬁwﬁaﬁgﬁ

4 Fr-m 27

(@) Fh < ig B W < e 17 Befifern <
T

(b) ﬁaaﬁtﬁﬁzﬁﬁm<m<ﬁvﬁ<ﬁ
W

(c) ﬁiﬂo‘l(ﬂ<ﬁﬁ<$ﬁﬁ<ﬁ!ﬁaﬁtﬁ
- it

(d) '—ﬁaanm<aﬁnﬁ<m<ﬁam
Beftfrn

12. @%ﬂwm%mﬁﬂ%@aﬁﬁﬁam

REK
(a) %Qﬁﬁﬁwﬁﬁmwﬁﬁtﬁmél

(b) UgfrEm, TRfrm ek ARy R il
uTgS 1 ¥ima R s wwa 2

(c) W= Tghfam gere W ¥ ain
ST g Felle R 39w Bt 2

(d) %Wmﬁmﬁmﬁ

13. el Wid weeh saren (vellow sooty

flame) % WY STl B | S5 oy 3
(@) T A TSR F IR FH A
(b) TP & Brem B

(c) =g sreafirk g Bt 2

(@ TG 3 wew B ompga Fr
&It &



8. A car movi
oving wi
g with a speed of 12 m/s 11. Which one of the following is the correct

is subjected A
& dece] : to brakes which produces order of pH for the given substances?
2 te eration of 6 m/s?. The car takes
0 st . i
brakes. W‘;:’at a.fter the. application of (a) Coffee < Lemon juice < Milk of
by the is the distance covered magnesia < Blood
b e car after the application of
@ 1 (b) Milk of magnesia < Blood < Coffee
) 12 m < Lemon juice
(b) 24 m
© 36m (c) Lemon jui<':c < Blood < Coffee < Milk
of magnesia
(d 48 m
(d) Lemon juice < Coffee < Blood < Milk

9. What is the chemical composition of of magnesia

a soda-acid type fire extinguisher?

(a) Solution of sodium hyd tru
y rogen : 1 1
carbonate and sulfuric acid . VZ:;Ch z:;-e ir?; ;he ioll(;mng s mot )
anodiz TOCESS

(b) Solution of sodium carbonate and

sulfuric acid (a) 1t makes aluminjum corrosion

() Solution of carbon dioxide and resistant.

sulfuric acid
: (b) Metals like aluminium, titanium

(d) Solution of sodium chloride and and magnesium can be anodized.

sulfuric acid .
(c) Clean aluminium article is the

anode and oxygen gas is evolved at

10. Consider the following statements :
the cathode.

While diluting concentrated nitric acid
solution
(d) 1tis used in aircraft industry.

1. the concentration of [H;07] ions/

volume increases
2. water must be added slowly to

conccntrated acid
be added slowly to water

13. Naphthalene burns with a yellow sooty
flame. This is because

3, acid must
(a) carbon to hydrogen ratio is low

which of the statements given above

: t? i .
js/are COTTEC (b) there is incomplete combustion

(a) 1, 2 and 3 |
b and 2 only (c) there is excess supply of air

(c) 3 only (d) of presence of impurities of
(d) 2 and 3 only nitrogen and sulfur

D-GNL/59B 5 [PT.O.
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14. Fe,0, # fifian % wu sfvfn % fin
frefoiea % 4 -3 v wd &7

1. ¥ ‘yige arfufen’ & w9 8 3 )

2. 3T I H W A1 F R
T st R

3. Ygfifvm wig sitefie wi% ¥ w9 3§
1 A R

4. fNfrm K wft = i Fe 3Rk Al -

4 2|
4N fow T e 1 W W T sw g
(@ 13R2
(b) 13K 3
(c) 23R4

(d 134

15. fadl 3 =@ fiml f & 9w (Stewart
Island), 9 #T% <& (Bay of Plenty) 3R
&% 9 (Hawke Bay) % WU & &R § &iqm|
fad1 3 form 2w 1 yw TR ?

(@) FATEI
(b) FTEfern
(c) ficre

(d) TS

JNBY-D-GNL/59B

16. 7a gt # ot Tt g formm wredt 5
mm?ﬁmwmélfmmaﬁm

(a) <1 e, Fga HAR, ST AfSTE
(b) e e, e e, Fga dm
(© e e, Fga AR, B9 9w

(d) <a foren, g 1 wehe, R e

17. 3R # afim & g A ok 5w R, @ T B
F 92 R q Wl 1 wel w9 4 g

(@) TATRN, FER, AR, G
(b) TATRS, AR, T, AITAR
fc) FAR, TATRN, WAL, Y1

(d) FER, TIPS, 91, TRTAR

18. Fraferfaa # & frm T 1 Sy fam #
watfie fawm 27

(a) TGS
(b) AT
(c) 3nfem

A(d) odETR



14. Which of the following statements are 16. Manav is planning to visit all UNESCO

true for the reaction of Fe,0, with World Heritage Sites in Delhi. He will be

aluminjum? visiting

1. It is known as the ‘thermite () Red Fort, Qutab Minar, Jama
reaction’. Masjid

2. The heat evolved is used for (b) Red Fort, India Gate, Qutab Minar

weldi .
Ing purpose (c) Red Fort, Qutab Minar, Humayun

o Tomb
3. Aluminium metal acts as an

oxidizing agent. (d) Red Fort, Humayun Tomb, India

Gate
4. Molten Fe and Al are formed at the

end of the reaction.

17. What will be the correct sequence of
cities on the bank of river Ganga if

Select the correct answer using the code sofieone Thoves froti west to east?

given below.

(a) Prayagraj, Kanpur, Bhagalpur,

(@ 1 and 2 Patna
(b) Prayagraj, Kanpur, Patna,
(b) 1 and 3 Bhagalpur
(c) 2 and 4 () Kanpur, Prayagraj, Bhagalpur,
Patna
(d 1 and 4
(d) Kanpur, Prayagraj, Patna,
Bhagalpur

15. Vicky told his friends about his visit
to Stewart Island, Bay of Plenty and

. . 18. Which i
Hamke B Which country did Vicky ich one among the following States

has the longest extension in north-

visit? south direction?

(a) Caﬁada (@) Jharkhand

(b) Australia (b) Telangana

() New Zealand ' (c) Odisha

(d) Ireland (d) Chhattisgarh
JNBY—D"GNL/ 59B 7
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19. -1 N Th-1 % ww gifkm Hfm ain

%(:j%ﬁ'-ﬂ%ﬁqm@mmwwm

1 ~
(e o

A. fam smdyfy Rem 1. 29 g
B. qiga ™ Ry 2. 22 3
C. fau v RRew 3. 2 wEh
D. g uig vt Ramw 4. 22 W
¥

@A B C D

3 4 1 2

) A B C D

w
—
H
N

g A~ B C D

N
p—
»H
w

@ A B C

w o

20. fnen W@ W @ 20202021 F U
qFIE wedA  AvfieRo gueie (PGl H,
frfafiag 3§ ¥ fFa 1sa/99 TSa-41 9 WH
¥frd gfg A mite =& 27
(@ FA
(b) USTE

(c) ¥ a4 R

(d) =dmg
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21. Fefafen 3 3 fre fide & B ik s

el % gfed 3w wEeeeR wRaw
W srfrfy (overlord) % fo&g s #i7

(@ T faE® (Rampa  Rebellion),
1879-1880

(b) 2% T4 (Gudem Uprising), 1886

(0 i faE® (Rampa Rebellion),
1922-1924

(d) AT "I Eed (Telangana Armead
Struggle), 1946-1951

22. Tra I 3 FIFA fag %9 (T89) w=@ afus «<m

Sfrem 8¢
(@) SRR

_ (b) s

(c) %™
(d) =

23.‘ﬁﬁ%ﬂqmm,%ﬁaﬁ$w

(City of Joy) Tl T&H -7

(@) < ®ife™ (Larry Collins)

(b) ftrfres Afer (Dominique Lapierre)
(c) FaTe frufem (Rudyard Kipling)

(d) "% T (Mark Tully)

24. 7@ ¥ fe P gRwm o

(Entrepreneurial Vision category) °

e Ty At wEER % Al 2022 A
e & ¥ &R (Champions of th
Earth Award) ¥ @ faean R

(a) 3N NE

(b) 3ATHA I
() ftn 3

(@) dRrER TR



19. Match List-I with List-Il and select the 21. In which one of the following revolts
correct answer using the code given did the Koya and Konda tribal chiefs
below the Lists : rise against the local overlord from

a Mansabdar family?

List-I List-II (@) The Rampa Rebellion, 1879-1880

(Day) (Date)
(h) The Gudem Uprising, 1886

A. World Wetlands Day 1. 29 July
(c) The Rampa Rebellion, 1922-1924
B. International Tiger Day 2. 22 April
. (d) The Telangana Armed Struggle,
C. World Water Day . 3. 2 February 1946-1951
D. International Mother 4, 22 March
Earth Day 22. Which country won the FIFA World Cup
(Men) for maximum number of times?
Code : (a) Argentina
(b) Brazil
(a A B C D
3 4 1 2 (c) France
m A B C D (@) Spain
3 1 4 2
23. Who among the following is the author of
(c) A c D the famous novel, City of Joy ?
2 1 4 3
(a) Larry Collins
A B C D
(d) 2 4 1 3 (b) Dominique Lapierre
(c) Rudyard Kipling
d) Mark Tull
20. Which one of the following States/UTs LR Y
is not among the top five in the
Performance Grading Index (PGI), 24, Who among the following is honoured
publish ed by the Ministry of Education with the UN Environment Programme’s
for the year 2020-20217? 2022 Champions of the Earth Award in
ool the Entrepreneurial Vision category?
erala
(@) (a) Ela Bhatt
jab
(p) Punja (b) Amit Dasgupta
lhi .
() NCT of Delhi () Purnima Devi Barman
(d) Chandigarh (d) Vanshika Parmar
NL/59B 9
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25, W@ A G20 Wy f fawg-ag ‘?ﬂiﬁﬁ
W W P - e
AR WY

(@) FeETgo
(b) FET-3UANg

() T

(d) wf

26. @ g A AwaR-Uh  AMEH #/
WA -AITE SN T W& F=E F 1631
v s, 2022 # AU ol Sed wa
(Nepal Army Battle School), EIGEEUR
SrfSE fF TN o) T oA W AW R/
13
(a) |fifa
IREER I

(c) F& 3™

(d) i fFm

27. afe fAfas mes w (GMT) § 10:00 a.m. ?,
@ 90° E ¥aT W &1 49y Y

(a) 5:00 a.m.
(b) 4:00 a.m.
(c) 3:00 p.m.

(d) 4:00 p.m.

JNBY-D-GNL/59B
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28. Freffaa § A fFm TR-08 B T TR (gas
planets)’ #g1 vl 2, FifF 3 Jea: Twh
T, 7a ot el A M 27

(@) e, Feedtd, I, B
o) e, R, T, T

(c) WM, Fa, Fewfd, A=

(d) I=g1, vf, TTE,

29. TFf 71 & TR F Foafafen R =

ﬁﬂl’ﬁﬁ%ﬂl:

1. A 3N 91, MR IR g & e
S A S R

2. T RN ¥ TR, GGG I AR
I Ty e § §)

3. T RSN I A H MUR W I
3R afiga fomm 0 weven R1

A W A ¥ w o W o
YEY |

_(a) Y@ (Alluvial)
(b) N (Laterite)

(c) b (Arid)

(d) FE (Black)
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25.
The theme of India’s G20 Presidency

‘Vasudhaiva Kutumbakam’ or ‘One

Earth-One Family-
from the mily-One Future’ is drawn

(@) Maha Purana
(b) Maha Upanishad
(c) Rig Veda

(d) Smriti

26. The 16th edition of Indo-Nepal annual

joint training exercise in jungle warfare
and counterterrorism operations was
held in December 2022 at Nepal Army
Battle School, Saljhandi. What is the
name of this exercise?

(a) Sampriti
(p) Mitra Shakti
(c) Yudh Abhyas

(d) Surya Kiran

at Grcenwich Mean

:+ is 10:00 a.m. :
If it 18 hat will be the time

Time (GMT), then W
at 900 E longitudC?

(@) 5:00 a.m-:
(b) 4:00 27
(c) 3:00 p-1m-

D-GNL/59B
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28. Which of the following groups of planets

is termed as ‘gas planets’ as they are
composed primarily of lighter ices,
liquids and gases?

(a) Mars, Jupiter, Neptune, Uranus
(b) Jupiter, Uranus, Neptune, Saturn
(c) Saturn, Mars, Jupiter, Neptune

(d) Neptune, Saturn, Mars, Uranus

29. Consider the following characteristics of

a soil type :

1. These soils consist of various
proportions of sand, silt and clay.

2. These soils contain adequate
proportions of potash, phosphoric
acid and lime.

3. These soils can be further classified
on the basis of their age.

Identify the type of soil on the basis of
the given characteristics.

(@) Alluvial
(b) Laterite
(c) Arid

(d) Black

[P.T.O.



30. ﬁnﬁﬁawﬁ«ﬁwmaﬂtﬁﬁlm
T2 T N W w@ IR IR

1. frd R ¥ W, FEA A
s e R w1 I fBRR
FenA % foe e S 21

2. T T w ok T wEen &
A 9 T B o R, W A A
mw%,mW(spins)?»ﬁ{
T (carns) 4 2, T gy 1 SR
T RN

®:

@ TR 1TARFgFA 2 @@ TR

() 3 T wd § 3 P 2, T 1

A Hl
(d) 3 T T ¥ frg T 2, T 1 H
AT 7€ A1 ©
31. fag 7 aftm = fareem el s 27

(a) wErE, W o FwR, feweE e
LEIC] ,

(b) e, 5%, st e i, o

(c) T, 9 st iR v
TS Y™ ' ’m)

G S

W’m7mﬂ ﬁm m»

JNBY-D-GNL/59B
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32. W@ ¥ weEmEdal (SG) ¥ wed H
ﬁnﬁ‘iﬁaaﬁéaﬁ’n-mwv@qﬁi?

(a) SGI, T@ER F gea faft FEEER qa

d
SGI,éﬂmWﬁﬁaﬁmﬁg\m

(b
/) Rl

() SGIF T T HifauTheh 7 B

Hhrea i Fafe affa TT SGI #
g forn <t ) |

(@

33. Prfafas § A fra wfifa § T=a @ @ wT=
TE B 7 .

(@) < @ AiAfd
(b) THH IuHH-GaH At
- fc) YRS |iAfd

(@) EE S i srgefm s
Feam-gadh

34. W % gt 3 Fraftem 3 wew # et §
8 -1 o

Ja)mww’mﬁiﬁ A
REENRIT



30. Consider the following statements and

identify the correct a
4 nswer usin
code given below : B, S

In a themal Power station, fuels
such as oil, coal or natural gas are
used to generate electricity.

Fuels are burned to'heat water and
turn it into steam, which goes
through a turbine, which spins and
turns, generating electricity.

Code :

(a) Statement 1 is correct but
statement 2 is not correct

(b) Statement 2 is correct but
statement 1 is not correct

(c) Both the statements are

correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does not explain
statement 1

31. Indus river basin is extended up to

(@) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab

(b) Ladakh, Jammu and Kashmir,
Punjab, Haryana

(c) Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan

d Kashmir
kh, Jammu an : ’
(d) llj;?naachal Pradesh, Punjab,

Haryana, Rajasthan

JNBY-D-GNL/59P
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32. Which one of the following statements
about the Solicitor General of India
(SGI) is not. correct?

(@) The SGI is the Government’s chief
legal advisor.

(b) The SGI is the secondary law officer
of the country.

(0 The post of the SGI
a constitutional post.

(d) The SGI is appointed by the
Appointments Committee of the
Cabinet.

is

33. Which one of the following comnﬁttees

‘does not have members from the
Rajya Sabha?

(@) The Public Accounts Committee

(b) The Committee on Public
Undertakings

(c) The Estimates Committee

(d) The Committee on the Welfare of

Scheduled Castes and Scheduled
Tribes

34. Which one of the following statements

about the election of the President of
India is not correct?

(@ A Union Minister shall not be
eligible for election

as the
President.

(b) The President is elected by the
elected members of the Parliament

and the Legislative Assemblies of
States and Union Territories.

(c) The Electoral College does not

include elected members of the
Legislative Councils.

(d) The system of proportional
representation by means of single
transferable vote is followed.

[PT.O.



3s. Fmiam Afufam, 1055 fra ad@ N T WH as.mmmmwﬁ@wmm
T Tiem ¥ Pt § dEfa k7 | firsdt % e ¥ forg =qaf®a frg g @ ha w3

: * T wfa ReeE F WA
(@ 26 S\al, 1950 e T

E G
(b) 26 TR, 1949

() 15 3T, 1947 (a) TR (Ennayiram)

{d) 14 ITF, 1947 (b) ITW (Uttaramerur)

36. A (NITY) IWEm g Pffa g Tg-smEmh (c) Tamem (Siyyamangalam)
T gE&i® (MPI) $ geR, Rt afEr
(household) ® dfka W < ¥, AR (d) FFEEAWAT (Kudumiyamalai)

1. TRER (household) % TH *fi W& Hi
T e9-9If¥d (undernourished) %

AR T R 39. vErRedl TR ¥ W@ ¥ ded #, ‘www
2. 15 94 3N 49 = & = RN AY =N ‘ (Dastak)’ 1 €17

ot wften v 1 AR =AW gEwE '

(body mass index) 18-S kg/m?2 ¥ (a) TEER

ETRd

T

A3 Ry 0 2 1 v @ IR R o)
(@) Fad 1 (c) TER W™
() ¥ 2 (d) T (textiles) W I
c) 1 323

(d Ad1MAA2

40. Fefafaa 3 } AR-w, gor@: T W

37. ‘TATEEHEt (Rayagajakesari) e O Hag it
‘ZaMe#al (Dayagajakesari) # Iurfert
fa=fafaa A 4 fbw ooEn | wag 47 (@) T IeqrEA
'(a) FEA g
(b) fasmam
(c) Trafa (c) RUERE (officials) N YTAH
(d) TgEe —

JNBY-D-GNL/59B 14



35. The Citizenship Act, 1955 deals with th
the

determination °fCiti2enship ori opal 38. Name the location of the musical
T alter

inscription containing groups of musical
notes arranged for the benefit of his
pupils by a king in the seventh or eighth
(b) 26th November, 1949 ce:tury CE. £ gh

(@) 26th January, 1950

(c) 15th August, 1947
(a) Ennayiram

(d) 14th August, 1947
(b) Uttaramerur

36. AcFording to the National Multi- i
dimensional Poverty Index (MPI) e Slyyamangalam
constructed by the NITI Aayog,

a household is considered deprived if (d) Kudumiyamalai

1. a single member of the household

is identified as under-nourished
39. In the context of eighteenth century

2. the body mass index of a woman India, what was Dastak’?
member, between 15  years
and 49 years of age, is below Siamiat
ure
18:5 kg/m2 (@) Signatur
Select the correct answer using the code (b) Land document

given below.
(c) Trade permit

(@) 1 only
(b) 2 only (d) Tax on textiles
(c) Both 1 and 2

ither 1 nor 2
il HIEt 40. Which one of the following was primarily

associated with ‘Dadni’ system?
e akesari’ and
tles Of Rayaga)are” )
e ’I“hc m‘ kesari’ Were assocnatcd 'thh (a) Textile production
Dayaga)a { the following dynastu:s?
which oneé ©
. (b) Warfare

(a) Kakatly2
(b) vijayanagar® (c) Payment to officials

ja ati
(c) GaapP (d) Revenue collection
(d) Rashtrakut@

16
[P.T.O.
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41, IR WA e % o A PR
FA W fam fifvr

1w o T ¥ @ w R R

2. FUHEE WU % I TEen i
YA CE % 99 % | wd &)

3. @ W R wuR o f afen Beh
i\

T § A TR FE @ R

(@ Faa 132

(b) Ha@ 2 A 3

(c) Fa@ 133

d 1,233

42. TempE % R ¥ Prafefea § ¥ FR-A wA
T 7

1. e B FEE (strength)
A frepdt gEF®  (Volcanic
Explosive Index) Y WA A R

2. wggae o frehdfm, e e
(volcanic activity) 3 fafifa T q)

3. waad i Irers, Teh i IR A
% qon T T N R S EEd R

419 fou v g 1 e HEd 3w R
(@) ¥ad 1 32
(b) Fa@ 2 ¥ 3
(c) Faa 13

@ 1,2¥M3

JNBY-D-GNL/59B
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43. 3 ¥ @ R H Frefafa fRwde ©
ﬁanaﬁ’rf%m

1. A gae @ fiffa 8 &

2. T A F AR TER B S,
Ao o foreteh Fu 3= F wF@ 2

3. 3 9d geEinh ¥ AR R AR, =
“Freri-T0 (anvil tops)’ S A

@ 7 el % STIR W A" YHR H TR
Hife) -

(@) Tl FE A (Stratocumulus)
(b) FER T 9 (Cumulonimbus)
(c) dE HUE A (Cirrocumulus)

(d) TNT=H W9 (Nimbostratus)

44, M sM@ T weRia @ 9w 6 &
THR 2 F A TR, THG:, SHEE 6T AN
el e aw # e ¥ owegf

gqmﬁnmwmmwmm
?

(@) I =W (Pie chart)
(b) WO TR (Scatter graph)
(c) <9 (Bar chart)

(d) Tvfa g (Triangular graph)



42. Which of the follo

41. Consider the following statements about
u

Kanaganahalli archaeological site :

1. It is situated on the bank of Bhim
river. :

2. The remains of the Kanaganahalli
Stupa can be dated between
1st and 3rd centuries CE.

3. Emperor Ashoka’s image was found
at the site.

Which of the statements given above are

correct?

(@ 1 and 2 only
(b) 2 and 3 only
(c) 1_'and 3 only

(@ 1,2 and3

wing statements about

volcanoes are correct?
1. The strength of a volcan.o
is measured py the Volcanic

Explosive Index.

5. Iceland and Philippines were
created bY volcanic activity:

oils are rich, deep

= g nd allow intensive

e correct answW

17

43. Consider the following characteristics of

a cloud type :

1. They are born through convection.

2. Only cloud type that can produce
hail, thunder and lightning.

3. They are large cauliflower-shaped
towers, often ‘anvil tops’.

Identify the type of cloud on the basis

of the given characteristics.

(a) Stratocumulus
(b) Cumulonimbus
(c) Cirrocumulus

(d N imbostratus

44. Meena wants to show diagrammatically
how two sets of data, namely,
population size and number of services
are related to each other. Which one of
the following will be the most suitable
for the presentation?

(a) Pie chart
(b) Scatter graph
(c) Bar chart

(d) Triangular graph

[P.T.O.



45.%%@‘3%%@@@
RCR G\

(@) g
[b) TR
(c) WewEy
(@) W W

46. F=fafen +oF § A DF-m/AR-3 w8 /R
1.

TR T T - T 2
2. MW T T S0 I R
RRALSLE TE R LR R e
(@) ¥« 1

[b) FT 2

(c) 1A 23

(d IW1AaT& 2

47. T4 2011 3R 2021 % ¥9 WK F =R

g A gfg g8 R quf, s emfy ¥
WA % | areTfea & & = of g8 0

(a) &Afa @I &7 70 wfowa A it Faw
HYAdl (canopy density)]

(b)) WAR ®EA @ (40-70 wiawa & dfw
faam qg=an)

(c) @en @4 (1020 ¥wE & = faam
|q9Ad1)

(d) (b) N (c) F

18
JNBY-D-GNL/59B

48. W fran A, 2020 ¥ weERm AefiRe
F W =R Hifvre :

1L 3§ 2025 @ w&a SR I=® e

el % mem A FH-3-%w 50 wREm
ﬁaﬁ‘ﬁﬁmﬁmamn

2. MatE fRmem, e fo amo,
Uil ot wrfie Ent ¥ Wy
e S|

3. =ERe fhien fw w0 ¥ R-wenm
WAl (NGOs) T T&H 6 S|

I ot § A PA-w /AR w2/
(@ ¥ 1

(b) - Fad 1 3R 2

(c) haw 2 3 3

(d 1,233

49. Hfa (NITI) mm ¥ IFER, F=fafaa ¥

T 6 FH-T1 TR, T TWo Fo o s
FEH®, 2020-2021 (Composite SDG
India Index, 2020-2021) # waQ 9 27
(@) ¥§W, gnEg, fawn

(b) IW WV, wREe, fagn

(c) I W, R, sy

(d) 3nfem, fww, s



he following Indian States
which 07 tline?
45 as the 1ongest coas
a
a Tamil Nadu
() Gujarat
(©) Maharashtra
(d) Andhra Pradesh
46. Which of the following statements is/are

correct?

1. visakhapatnam Po
locked harbour.

rt is a land-

2. Deendayal Port is a tidal port.

Select the correct answer using the code

given below.
(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

47. There is an increase in forest cOVeT area

of India between 2011 and 2021.
However, there is a decrease in forest
cover area of India during the same
period in

very dense forest (canopy density of

more than 70 percent)

e forest (canopy
pcrccnt)

(a)

(b) moderately dens
density between 40-70

(c) open forest (canopPY density

between 10-20 perccnt)

(d) Both (b) and (c)

JNBY-D-GNL/59B
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48.

49.

statements
Education

following
National

Consider the
concerning the
Policy, 2020 :

1. At least 50 percent of the learners
through  school and higher
education system to get exposure
to vocational education by 2025.

2. Secondary 'schools should
collaborate with ITIs, Polytechnics
and local industries.

education to be

3. Vocational
NGOs.

exclusively provided by

Which of the statements given above

is/are correct?

(@) 1 only

() 1 and 2 only

(c) 2 and 3 only

@ 1 2 and 3

e following sets of States
ijs at the pottom of the Composite
sDG India Index, 2020-2021 as per

the NITI Aayog?

which of th

(a) Assam Jharkhand, Bihar

(b) vuar Pradesh, Jharkhand, Bihar

(c) Uttar pPradesh, Bihar, Assam

(d) Odisha, Bihar, Jharkhand

[ P.T.O.




so.ﬁw%%aﬁ%ﬁq-m,m%ﬁﬁm%
ATV 51 W A A2

(@) SRR Wil ok gean N =g 0

(b) TE F d= AT W g e
F T TG

(o) WW%W%WUN
e {1 = W@

(d) TEIEE TR AR fHa|l ¥ figer ¥
T Sreatfea =

51. ¥ A #H, T-Falg widem (NAM) % frm

H (formative phase) H H a'glﬁ |
oS & a7

ja) FH TFAE (Kwame Nkrumah)

(b) FHA #H&A AW (Gamal Abdel
Nasser)

(c) TATETATA Ae®

(d) e F@ (Fidel Castro)

JNBY-D-GNL/59B

52-W§%ﬁuﬁ,ﬁnﬁ-ﬁ@aﬁéﬂq-am
wh ¥

1. 3 7m Yo iR Rrean )

2. TR M- T wfERt g A
BRSO

e TEgiA <@y (Deccan) ¥R W #
q)

A= R T e e @ s g
(@) *aa 1 3iv 2
(b) Fad 2 3 3
() %= 1 3R 3
(@ 1,233

5. o §, R # T TR A s
T A ARG STl T TR TR
T AW a1t
(@) <A &9
(b) TS TSR
(c) @iE AN
(d) faferem sfes

54. T & FWESN w F fw ¥ SR § IR
e, A1 faerdis 1 e T ¥ D 37

(@) R g
(b) e TR
(c) WIETeR AW
(d) T3 Snue

20



50. Which one of the following is not & rt
pa

of Article 51 of th o
India? ¢ Constitution of

(@)

(b)

(c)

(d)

51. Who among the
the core leadership ©

Movement (NAM) in its

Promote international peace and
security

Maintain just and honourable
relations between nations

Use of UN peacekeéping force for
resolution of international disputes

Encourage settlement of inter-
national disputes by arbitration

“following Was not in
f the Non-Aligned

formative phase?

(a) Kwame Nkrumah

(c) Ja

(d) Fid

asser

waharlal Nehru

el Castro

JNBY_D-GNL/59B

52. In respe

ct to Balutedars, which of the

statements given below are correct?

1.

They were village servants and
artisans.

They were employed by individual
peasant family.
They existed in the Medieval

Deccan and Maharashtra.

Select the correct answer using the code
given below.

(@)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only

1, 2 and 3

53. Which one of the following Viceroys was
the first to officially shift his Council
to Simla in summer season?

(@)
(b)
(c)
()

John Lawrence
Lord Dalhousie
Lord Mayo

William Bentinck

54. Who among the following is the author
of Maze Vidyapeeth, the famous poem
about the life of working class of
Bombay?

(@)
(b)
(c)
(d)

Narayan Surve
Amol Palekar
Bhalchandra Nemade

Narendra Jadhav

[P.T.O.



5. @ ¥ fem 10d o #§ R Wi W A
e 6 oft?

(@ TUTHEQ A
) T e T
(c) TEHFY SR
(d) FTE IR ]|

56. 3 WS, 2021 N WY TY WEET T INFR

e M wwer § af 2023 N e R
FRHT T TR 1 Pl Ry e

(@ Wi fwm % Rt e
(Basic Sciences)

(b) H=

Ac) T (Millets)

(d) 32 (Camelids)

57. Fifd% Wwm, R 1cC T T20 fasam,

2022 H MR & qhe (Rfe=) wm 1 3,
' %H%manuﬁfﬁﬁqam%?

(a) =
(b) WIH I R
(c) A=
(d) =rfifern

58. T Al (Wassenaar Arrangement) *

Fay A Fafafas § @ AF-w wu @d
&7

(@) 7@ FaEd § 42 wfawrf 30 mive )
(b) TEH TEA YEAA: TH WEI ERER

5% (nuclear weapon overseer) *

w9 7 o man)
(c) WA 76 w1 F1 TAHH AR B |

(d) ¥wa T8 e # af 2017 4 wia
B

JNBY-D-GNL/59B
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» 2022 & famrat
mﬁ-lﬁ@—llﬁmgﬁ%aﬁ
mﬁ%ﬁ%ﬁﬁq%@wﬁwv1
SW gfw

-1 -1

(I==F =1 1 ik fem) (F@=)

A. 7 g (FeM-wu8) 1. FHa

B. gugt # w=s (wfqa@- 2. dton T

IR)

C. ¥ &% (TRH-TMR) 3. ¥R FWEw 8

D. 3Ag 37aT (A1e) 4. TS FER TrEn
He :

@ A B C D
1 2 3 4
() A B C D
1 3 2 4
0 A B C D
4 3 2 1
d A B C D
4 2 3 1



55. Who among th .
the Hindu Dh:rm?llosw Ing  founded 59. Who among the following is known as
19th century? abha in the ‘Payyoli Express’?

(@) Radhakanta Dep (@) Hima Das

(b)) Ram Mohan Roy (b) Dutee Chand

() Dwarkanath Tagore

(d) Keshab Chandra Sen (c) P.T. Usha

. d) Shiny Abraham
56. The resolution adopted by the United “ ’
Nations General Asserhbly on 3 March
2021 decided to celebrate the year 2023’

as the International Year of 60. Match List-I with List-II relating to

Sahitya Akademi Award Winners, 2022

(a) gasici Sciences for Sustainable and select the correct answer using the
evelopment code given below the Lists :
(b) Glass
List-I List-II

(c) Millets
(Title and Genre) (Author)

(d) Camelids

[
.

A. Bhool Satya (Short Kamal Ranga

57. Karthik Meiyappan, who secured Stories)
hat-trick in the ICC Men’s T20 World . ~
Cup, 2022, represents B. Tumadi Ke Shabd 2. Veena Gupta
(Poetry)

(a) Zimbabwe

(b) United Arab Emirates

Chhe Roopak (Drama) 3. Badri Narayan

D. Alekhun Amba (Play) 4. Manoj Kumar

(c) Sri Lanka
v Goswami
(d) Namibia
i Code :
58. Which one of the following statemint_:
aar Arrangement 1
about the Wassen w A ] ) i
not correct? | 1 : : :
(a) There are 42 participating nations
in the Arrangement. o A . . )
(b) 1t is formed prirnarily as a nuclear 1 3 3 .
weapon overseer. | o A ] ) '
(c) India is the current Chairman of : :
the Arrangcment. .
. ioed the Arrangemcnt in d A B . .
(d) India joine : ; : 1
the year 2017.
23
( P.T O,

JNBY-D-GNL/59B



61. Ffofan swl w famw Hiftrg sk srfiveh 63. Frefifad # @ F-a1/PH-8 F97 98 B/87

TEIY ; 1. aefa f g ®moaE aiw ds
(Tomb of Sand) A gl JTERR
3 vfeg R srfas, Advres ofkt Amfar & ar S archt e w9 @ R wwefa v d
T WK wreg g €1 1992 ¥ 37 foreht ¢ eeh T R)
W&?WWHWWWW1998# 2. jwaﬁ#g,ﬁaﬁﬁa@am
S T 2001 TF IFH A9 fheq JH0H I & AR Sl TR R e
TS F gy F &Y F P 3411 yReAT R o mam)
¥ 3% iy HSflad qFEH A d@a
B%Nﬁ@aaarmwa‘»gw#wﬁi 13 e e e 1 e R @ 3w g
fasar (@) =9 1
(b) Fad 2
(@) TN () 1323w
(@ FdM13RAE2
(b) @ TR
64. RS TR AW H F@dl TR, w1
- fufm  d=-3-¥  awm (bilateral
(6 Sl military-to-military exercise) 3, anfi e
A § wra ok fefafas # @ form o & fadw
(d) T IR a1 % o o mn?
(a) STUH
_fb) TR
(c) ¥eW
62. UN 2023 ¥ ®HeH # SENH-Td (d) HMR

(venue) fferfaa 3 & #R-w #?
65. TR oA & fore weam g Frafeafaa 8

(@) arfime, do o o 3T 01 R v e 27

(@) &, YR SR R Ao s 7@
(b) A v Z;h W A TR (subsidy) R
(c) & fewn })gmmw‘ﬂwaﬁqﬁ
(@ . gﬁmmmmmﬁﬁ

JNBY-D-GNL/59B 44




g1. Consider the following statement
s and

identify the actress :

is a
She renowned film actress, director

and producer, and an accomplished

Indian classical "

conferred the Padma Shri in 1992 and
has served as the Head of Central Board

dancer.

She was

for Film Certification from 1998 to 2001.

In recognition to her exemplary lifetime

contribution

was honoured with the prestigious

Dadasaheb Phalke Award.

(a) Vyjayanthimala
(b) Waheeda Rehman
(c) Mala Sinha

(d) Asha parekh

62. Which on

of the UN 2023 Wwater

(a) washingto™ DC

(b) New york

(c) San Dieg®

JNBY-D-GNL/ 59B

lowing !
e of the fo cgnfercnc"?

is the yenué

to Indian Cinema, she -

25

63. Which of the followin

64. The eighth editio

65. Which on¢

g statements is/are

correct? _

1. Tomb of Sand, written by Geetanjali
Shree, is the first book originally
written in any Indian language to
win the International Booker Prize.

0. Tomb of Sand is the first novel
translated from Hindi to be given
the International Booker Prize.

Select the correct answer using the code

given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

n of the Exercise Garuda

Shakti, a bilateral military-to-military
exercise, Wwas conducted recently

between the special forces of India and

(@) Japan .
(b) Indonesia
(c) Bhutan
(d) Myanmar

of the following is a measure
that can be used by the Government

for combatting inflation?

(a) Increasing the non-planned

expenditure on defence, police, etc.

(b) Providing more subsidies on

exports
(c) Increasing the rate of interest on
savings and fixed deposits

in the cash reserve

(d) Reduction
ratio (CRR)

[ P.T.O.



66. W A W N i vz # 0 e §7
(a) SRS (Deflation)
(b) TEEHASRE ¥ (Stagflation)

(c) HATEIA (Devaluation)

(d) T (Recession)

67. T wg-AEE TR gEww (M) F
fraffea 3 ¥ FW-u1 whas aimRm 27

(@) =i foen & =
(b) W& R

(d) ufa =afte s

68. Weifr) s i sedl A i e
FTO B4 ATl ST ) 1 FEd 6

(a) :q'{.aﬂﬂm
[p) SSsE Nt
(c) <@ AqS

(@) F=BA FATI

26
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69. fr=feriag o FA-T/HA-B, T e

T A (PMSSY) F1/% 2w 2/%7

1. o @R Tgwre Yaedt i suesyar
T it gt H g e

2. A% Wree Yaiat 3R Fd= A
% fore wrdhii v wem W

3. W A EEg mgfiT Ran ¥ fw
et & gfg

R R e g 1w I g
(@ Fa@ 1 3R 3

(b) Fa@ 2 3 3

() Had 1

(d 1,23R3

70. 0 ¥ feg e Y 3 TeAfE e %

w0 i st T i s A
AT HH R T WiorTo= 1 e fean an?

(@) TGS A
(b) Elo dlo Mo IFaEH
(c) o Fo e

(d) AR JE&



5, The sustainfed decreage i
price level is called as

the Benerg]
(a) deflation
(b) stagflation

(c) devaluation

(d) recession

§7. Which one of the following indicators
is included in the National
Multidimensional Poverty Index (MPI)?

(a) Years of schooling
(b) Literacy rate
(c) Life expectancy
(d) Per capita income
e to
%. The unemployment that occurs du

in the
changes in the technology t(;fis e ed
demand for particular produc

t
(a) frictional unemploymen
ent
(b) structural unemploy™
nt
(c) cyclical unemployme

ment
(d) disguised unemploy

N
BY‘D\GNL/ 59B
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69. Which of the following is/are the
objective/objectives of the Pradhan

Mantri Swasthya Suraksha Yojana
(PMSSY)?

1. Correcting regional imbalances in
the availability of tertiary health
care services

2. Providing wuniversal access to
public  health services and
universal immunization

3. Augmenting facilities for quality

medical education in the country

Select the correct answer using the code
given below.

(@) 1 and 3 only
(b) 2 and 3 only
(c) 1 only

(d) 1,2 and 3

70. Who among the following political leaders
suggested the dissolution of the Indian
National Congress as a political
organization and its replacement by a
Lok Sevak Sangh?

(a) Vallabhbhai Patel
(b) Dr. B. R, Ambedkar

(¢) M. K. Gandhi

(d) Jawaharlal Nehru

[P.T.O.



72. F=fefen ¥ @ 9

71.W.ég?ﬁugmﬁﬁmﬁﬂ%ww
(all-woman contingent) # T FA aTen

%ﬂﬂvm%mélnsﬁmﬁmémﬁ
Retfoa e mn?

(@) wreafE

o

(c) T

(d) rfwn
-Hl, SWAYAM %&%H &

e =i 27

(@) s sy

(b) F&N ATAER

() T QX FA % R st g
Larel

(d) ﬁﬁumﬁmﬁnﬁﬂmﬁiﬁ
ererre /fie faran s w2

73. fafafaa & @ #9-q fasm /iy

Te
WA F i T 27
(a) T4 faum

J[b) T fawm

(c) Wﬁwmmﬁmafmmgﬁm

() 5, F AN et e

J NBY-D-GN L/59B
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74.%%1?@3*?@%@:%%@%%3&%

SIEA * e W R ot W EREIT
FeTeRT YREg R T F B R

mﬁmw%,ﬁ%mﬁﬁ%
g sTgafem A 7 57

(@) H=fYa U7 =1 T
(b) ¥RE =1 TPHfy
(c) w-tmqﬁqq

(d) ¥Ra N "o

7s.maﬁmmﬁ,ﬁw%&gaﬁaaaa-a

T3 /69 T -8 widforg 87

(@) ITTEE, IW W, &fammn, dee, STy
IR HER

(b) mwﬁwﬁammﬂ@
TR Tee 8 Rgh

(c)wm,m,m,mwn@i
TSN

TS i

76.§w‘ﬂmﬁmuﬁvﬁaégmﬁm

(notion of kinship) fr=fafea § ) fvey
I § waes w9 Qi R?

(@) AN A I Ay (identification)
() W et ) s
(c) ﬁﬁ’ﬂ%@u Twfeq

panegyrics)

(d) T ain PAE) (sculpture)

(inscriptiond!



71. India is the first country in the
to deploy an all-woman Sointin eworld
a UN Peacekeeping Mission. Ing ‘;11: to
country did this mission operate? ich

(a) Liberia
(b) Sudan
() Burundi

(d) Croatia

72. Which one among the following is not
a part of the SWAYAM programme?

(a) Video lectures

(b) Classroom lectures
(c) Online discussion forum for
clearing doubts

ared material that

(d) Specially prep :
can be downloaded/ printed

73. Which one amons tr{e lelzzf;ti
Departments/ Authorities 18 no
e Affairs?

the Ministry of Hom!

(a) The Department of States

official
(b) The Department
Languageé
i ChcmiCal
(c) The National Aut.horlty
Weapons conventio?
Jammi,

t 0
Departme? irs
“ ’I?;thir,:n Ladakh A o

INBY_p_GNL/59B

74. Who among the following is given
discretionary powers under the Fifth
Schedule of the Constitution of India
to set up a Tribes Advisory Council in
a State which has Scheduled Tribes but

not Scheduled Areas?

(a) The Governor of the concerned
State

(b) The President of India
(c) The Inter-State Council

(d) The Parliament of India

75. Which of the following States/ UTs are
included in the Northern Zonal Council?

(a) Uttarakhand, Uttar  Pradesh,
Haryana, Punjab, Jammu and

Kashmir

(b) Haryana, Punjab, Himachal
Pradesh, Rajasthan and NCT of
Delhi

(c) Uttar  Pradesh, Uttarakhand,
Punjab, Haryana and Rajasthan

(d) Uttarakhand,  Uttar  Pradesh,
Himachal Pradesh, Punjab and

Haryana

76. The notion of kinship projected by
the Kushana rulers is best evidenced
through which of the following?

(a) Their identification with deities
(b) Grants to religious institutions
(c) Inscriptional panegyrics

(d) Coins and sculpture

[P.T.O.



77. WA WRa § Peafifes § R 0 % w9 d
LGRS IRIEO 1K

(@ %33 wikemd

®) e F IR T (elder nuns)
() Togoht v (status) ¥ SRy Rt
(d) 9% ¥ A Remim wiem

78. mmiﬁmm%ﬁmmﬁ 1914
ﬁmﬁﬂﬁmaﬁ:ﬁﬁmﬁ off?

(@ it T IR
() T G
(c) ThHo Sfto I
(d) v wsh

79. maﬁra-mgaaﬁwﬁﬁw&—lﬁaﬁ%
%5 g i 78 o7

(a) q@ dfy
(b) F= HfY

(c) TEfa @i
Wadgaon)

) qraarg gy

(Convention of

80. 34 @gI{ (battle) % AR 9arge, forgd Jreuien
%w%nﬂﬁﬁaﬁmﬁﬁmml

(a) W e ) creré
(b) Fae ) e
(c) WifereR ) wTerd

(d) <SRG (Changanassery) #) LS
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81. Frefafen # @ Pm-eht Al swifea =9 3
SN R TR A e wA # ook R

PHEET GR ARMEI  (appreciation  of
currency) B ?7

() Foreamert ot i D A
(b) WH=AHEH TR ot Dz ARy

(c) WF=HE TSR A i Rrearer
ke Aify

(@) TFEt DRF Ay o Freareh
TSI iy

82. mmmﬁwﬁ%mﬁsﬁﬁ%ﬂmﬁ
T B T FEd B

(@ (P faw =) sfetg (Crowding

out)

(b) (P Faw =1) s (Crowding in)
(c) fam | (Pump Priming)
(d) @ (Dumping) '

83. e & ¥ -
F/* Rww /&
1. f

2.

3. il @ dufafy

[FR-R, H s

“ﬁ%ﬁqmwzwmww:ﬁzgﬁm
(@) Fad 1 afy o

Ab) FIA 2 3iy 3
(c) 1,2aix3
(d) %9 3



78. Which member of the Serv

79. The

80. Name th

77. Who among the follow;

. n
to as the Therjg’ in g Were Teferreq

nClent Ind;
di
(a) Respected Womep, o

(b) Elder nuns in g, ddhi
ism

(¢ Women denieq

status the Bhikkhun;

(d) Women expelled f;

ants of Indig

Society founded the Seyq Samiti at
a

Allahabad in 19147

(a) Shri Ram Bajpai

(b) Hriday Nath Kunzru
(c) S. G. Vaze

(d) Srinivas Shastri

First Anglo-Maratha War was
concluded by which one of the
following?

(a) The Treaty of Surat
(b) The Treaty of Purandar

() The Convention of Wadgaon

(d) The Treaty of Salbai

e battle in which the Travancore

King defeated the Dutch in 1741.

(a) The Battle of Porto Novo

(b) The Battle of Colachel

(c) The Battle of Pollilore

attle of Changanasscry

(d) The B
31
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81. Which of the following policies help

to raise interest rate unambiguously
and thereby lead to appreciation of
currency?

(a) Expansionary fiscal and monetary
policy

(b) Contractionary fiscal and monetary
policy

(c) Contractionary fiscal policy and
expansionary monetary policy

(d) Contractionary monetary policy
and expansionary fiscal policy

82. The contraction of private investment
spending due to deficit spending by the
Government is called

(a) crowding out
(b) crowding in
() pump priming

(d) dumping

83. Which among the following is/are the
objective/objectives of the NITI Aayog?

1. Imposing policies on the

States/UTs

2. Allocation of funds at National and
State levels

3. Design strategies and long-term
policies and programme frame-
works

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1,2 and 3
(d) 3 only

[ P.T.O.



84. i@ Wl arafu ¥ smum w wifrs wfy =afs

TN F (MPCE) ¥ @ # 70 % uferer

87. YA # IDWV-T@ (writ of certiorari)

FH F foy Frafafas § & FR-d

(@) HgTETE wiyfy 1. Qmwmmmwémm
(k) S3eR i o 7@ st % R A wf
(c) TR afufy FA AR T A RuRo =1 w1 R

WHER B IR s &9 A 58 70 5
(d) 3w ainfy e i)

85. fr=fofea & @ F|-w/A-A, T A

foFma YR (NSDM) =1/% 39-38 B/%7?

2. W@ I 1 Afterd ¥ sttt ¥
form 14 fope 21

1. wemm g = e T g2 w1 vEm = oad s g
2. WG TR (@) Had 1
3. UEWH® YR GEAT &1 ¥ I8H
: () HadA 2
(leveraging)
2 R Mg g2 1w W I gl (c) 1 323
(@) +ad 1 (d) T@1IRAHE2
(b) FaA 2
() 1,233 ss.gqﬁammaaﬁmg@wma:ﬁm
’ EQ
(d) Faa 2 IR 3 =dis’ T ¥ Ry =mdie 1 e

e T an?

(@) =G o T T
(b) AR Fo Sho ACAFIH
(c) T Ro To T
(d) AFHE FEo Fo WA

86. POSHAN @A # FrEif=a o % fore
frefafaa & ¥ SA-d wEAf/wERE
Fg T R /87
1. Agw F ggEm ® fau -

#feq (inter-sectoral convergence)
2. wfgensti 3R o= 6 qrafas 9 (real
timc)ﬁéﬁ?ﬁmﬁ%m

denfief (1CT) *1 WA 89. T A ¥ TEah I GH A B

4w feu Mo 2 1 yEm @ wd IR AT (@) T fer
(a) W] ) 4

(b) Fam o

(€) 1 et g e (c) 3TEUN I Al

(d) CIC AT Ay @ 2 (@ o

. ) 59”
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86. Which of the

g4. The computation of
poverty in
terms

of Monthly Per Capj
: apita :
Expenditure (MPCE) basedizn:hxlmh;tlon
Reference Period was reco ixed
by the mmended

(a) Lakdawala Committee
(b) Tendulkar Committee
() Dandekar Committee

(d) Alagh Committee

85. Which of the following is/are the sub-

mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training

5. Overseas employment

3. Leveraging of public infrastructure

Select the correct answer using the code

given below.

(a 1 only
(b) 2 only
(¢ 1, 2 and 3

(d 2 and 3 only
tegies is/are

Jlowing str2
fo g = the POSHAN

adopted for implernenting t

Abhiyaan?
1. Inter-

for

ICT) for real-time

JNBY-D-GNL/ 59B
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87. Wh

88. Who among

g89. Who amon

ich of the following conditions is/are
necessary for the ijssue of a writ of

certiorari in India?

There should be a tribunal or an
officer having legal authority to
determine  questions affecting
rights of subjects and having a duty

to act judicially.

1.

Such tribunal or officer has acted

2.
without jurisdiction.

Select the correct answer using the code

given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

the following Chief Justices
dered the constitution of

of India or
gocial Justice

a Special Bench called
Bench’?

(a) Justice H. L. Dattu

(b) Justice K. G Balakrishnan

(c) Justice R. M. Lodha

(d) Justice Y. K. Sabharwal

g the following is the author
of the book, Bandi Jivan ?

(a) Rash Behari Bose
(b) Veer Savarkar
(c) Aruna Asaf Ali

(d) sachindranath Sanyal

[ P.T.O.



90. 1937 A F W A, wrdw TPE HhE

i 3 A A A wid A e g

93. T M fsEmAm wh F owem qwym 3

Freafafaa & ¥ S-w ) TRat s=wdh §7
=2 (single largest party) % &4 3§
PR (b) ‘Tix'ﬂ?fliiﬂt’ﬁ?laﬁ
. R
(b) w3 o i (c) w1l W
: (d) F=0 AR G
(c) U IR 3my —

(d) ™ 3R ™ 94. frfafem # ¥ Agh Frw W= (dual
control structure) 9Tl THHH JAHAFTF 59
ST }?

(a) = o giera sw

91. F=faRes Fo@t w fer Hifvr
IR R= BN TR w0 F ar gam §x

bl (b) T TgEeR
2. ﬁﬁw%ma@mm (d) F3 s gan 7w
ha |
T FeE & @ AR-w/AE-a w2 95. ﬁzif:ﬂij xm ;gﬁmm (ethnic
(@) Fad 1 o
(b) Fad 2 @) i
o) 1 ¥R 2 A o wem
(d) A1 ARITE 2 @ o

92. ‘vit’ % fafim =di <1 2wl 9@ Aefifag

i A 2 7 e A 96. Frafafad & ¥ Rra Jn A ke A = 9
H,-mgm gaiaa f

W (Chevrons) 27

(@ A FEF UER YW Y] (@ tfwm

) Bm . dwmF fuen s A s (b) < herdew

(o) ATErER ;e 39 A SR (c) sTrRde

(d) TR farE ) sqEa § sqren (d) T
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90. In the election helg in
two provinces wag the ]93-7
Congress not able t N

, in which

93. Which tw i . .
an Nationa] = o rivers flow in the region

between Gulbarga and Vijayanagara

single largest party» > omerge as the Hampi?
(@) Punjab and sj
5 A Sind (a) Narmada and Godavari
ssam and N
S inee orth-West Frontier (b) Mahanadi and Godavari
(c) Punjab and Assam (c) Kaveri and Periyar
(d) Assam and Madras (d) Krishna and Tungabhadra

94, Which of the following is the only

: . aramilit f i
After forming the Indian National Army, - I:tmct‘irle?ry once avith. & |Cual iConte)

Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War (b) Assam Rifles
in Japanese camp ‘

91. Consider the following statements :

(a) Central Reserve Police Force

2.  introduced a women’s detachment (c) Indo-Tibetan Border Police

named _after the Rani of Jhansi (@) Central Industrial Security Force
Which of the statements given above

is/are correct? .
95. Which one of the following is an ethnic

(@) 1 only community of Assam?
() 2 only (@) Bhil
(c) Both 1 and 2 ol 1o
(d) Neither 1 nor 2
(c) Ahom
92. Which one of the following pairs denoting (d) Adi

various forms of ‘Bhakti’ is not correctly

96. The Chevrons is the name of the cricket

matched? .
. Belief 11 Gods Wwith team f)f which one of the following
(a) Saguna - rributes countries?
a
i t
Belief in Gods withou (@) Australia

(b) Nirguna ° o a8
attribu (b) The Netherlands

Believed !
(c) Alvars Shakti 2 o (c) Ireland
. d yvoll
anars - Believed " (d) Zimbabwe
(d) Nay Shiva

35 [ P.T.O.
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97. mﬂﬁm%mm?ﬁiﬁaﬁw%ﬁwﬁﬂhﬁﬁ
Y T Tl 3am A Se ™Y

(@) TSI WEA IAH

08, T ¥ €4, =¥ 2022 ¥ Wfw fagm A AN
TER F1 TS TE -7

(@) ™ TR

(b) SR Tho FAK
() TIW THERA
(@ @ R

99. iy iR 2@ i & fog WMt # wiad =
(reflex arc) fa=fa B ¥ Fafafas & &
FH-9 IFHE, Jdad 99 H HEE F9 H
Trefya =xa1 87

(@) TE — Fad A — AR | @ A
T — nfEsE — W A — R

(b) TE — T =R — A — e
3 frd A — I A — R
(c) FE — FF A — Feey # e 2

(d) T — W& P — Afeass — Fqad

100. 7Fff@RA a4 7q d9rgtse dfy & fau
frafafaa 4 @ #3-a aftad 27
(a) NaCl
(b) KCI
(c) F1ARTA
d)  ATEH

JNBY-D-GNL/59B
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101.%%%@%@23@@1\#%?@{
<& weg@ d 3w FrAfatad 3 A e

o A B 87

P (@) AfFH 3T
(b) CO,
(c). Trgefash 3TFA

(d) TIAA

102. P g A A Tk DA A T Tl AL T AR
W 2 fiFe ¥ fw Iaed gt § @ T 3IEH
1% I I9ed Yeehigia § Fmfsa R e 2k
ISR A q Iu=iia foRm T wdigor %
9T I 1 At T @ gme?

(@) TTEH
(b) &
(c) e
(d) g

103. IR A TR H T TR FREFA (RBCs)
F gug R S ¥ ol 3R g oEw F
0 (B A TR faeem) § aqa e
STl 8, A RBCs w1 941 8nm?

(@) RBCs Fa Sdr

(b) RBCs %al Wit 3k we smarh

(c) RBCs fage smdh

(d) RBCs & =g/ H #I¥ gfiEdq Al anm




_ cheetahs, brought from Namibia, were
a mtroduced in ]n.dla to which one of
the following National Parks?

(@) Kaziranga National Park

» K eoladeo Ghana National Park

{C) Keibul Lamjao National Park

(d) Kuno National Park

4 Who among the following is not 1
recipient of the Nobel Prize in Physics
n 2022?

(a) Alain Aspect
(b) John F. Clauser
(c) Klaus Hasselmann

(d) Anton Zeilinger

9, Reflex arcs are evolved in animals for
quick and efficient responses. Which
one of the following sequences correctly
represents a reflex arc?

(a) Receptor—Sensory neuron—Relay
neuron in spinal cord—Brain—
Motor neuron—Effector

(b)) Receptor—Sensory neuron—Brain
—Relay neuron in spinal cord
—Motor neuron—Effector

(¢) Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

(d) Receptor—Motor  neuron—Brain

—Sensory neuron—Effector

0. Which one of the following is essential
for thyroid gland to make thyroxin?

(a) 'NaCl

(b)) KcC1
(c) Cholesterol
(d) Iodine

N ,
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101. A sprinter feels cram

102. A leaf was plucked fro

ps and pain in the
g is due€
thigh muscles after a run. This 18

to accumulation of
(a) lactic acid

(b) CO,

(c) pyruvic acid
(d) ethanol

m a plant on

a sunny day and kept for 2 minutes
in boiling water. It was subsequently
immersed in boiling alcohol and treated
with iodine solution. What will be the
final colour of the leaf after the test?

(a) Colourless

(b) Green

(c) Blue
(d) . White

103. If the red blood cells (RBCs) of human

blood are isolated and are diluted in
normal saline (an isotonic solution to
blood), what will happen to the RBCs?
(a) The RBCs will swell

(b) The RBCs will swell and burst

(c) The RBCs will shrink

(d) No change in the dj
the RBCs lameters of

[P.T.O.
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104, TILRW WG R ¥ waw & PR 2 107, AN ok AT B iy
- Y mﬂﬁmﬁﬁnﬁﬁq: 4
) B B & 1. W,wﬁaﬁmﬁam .
(@) %‘ﬁﬁ‘ldﬁa\]%‘lﬁﬁ Q)Wﬂdlwm ﬁqﬁqﬁﬁm%' (Slgnd]) ‘
2. Wﬁq,aﬁqﬁa@m
CARLLECIE T ST S gy T R) # ot
3. ¥, '
(0) ﬁ“ﬁmmﬁmﬁtﬂémé;uwﬁq m%lmﬁiﬁmﬁ‘aﬁﬁm
oH &1 3 -
p W(xleutrallz)m%l 4. m,_&mmﬁaﬁﬁmm
@ W W™ ¥ pH ® a0w w@ } ok J ‘
WW#M@WW ST QB o &
(@ 133
(b) 13K 4
105. W 9 F WA 120/80 mmHg Bl ‘(C) 23R 3
213 ‘T e ) w3
' (d) 23R4

(a) 1 e wge iv frem Rl w

b) F: e o o e gm0 100 W ¥ W g e e g 0

mﬁmm%lmmsﬁﬁﬁm
(c) F: 31T T aiv st Rify w TR % 5 A oww A i

_ (19f% = 1 kwh)
(d) 1 e v i s g ) 300
(b) 1-08
106. 7§ =If forfl et wzm (cliff) % T T (c) 216
W%WM%SS%WM (d) 033
TaAR g 3 % aR wh f T
340m{s%,?ﬁ'@§_1‘?@:{ﬁ3§ﬁﬁﬁ§ﬁ 109. THaTH U & @y @ Y § 1 w0 9w
o 27 5: 20 ot = % fore, Am-ww e & siwta &
(@ 1700 m e 3 ¥
b) 170 fo e e 2
& " (b) I faa frerm © -
(c/) 85 m (c) Rﬁ;fﬂ(‘l?ﬂﬁ“—giﬁ ‘
(d) 850 m (d) Ih 3hed =
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104. Which one of the

followl'

regarding bile hg
ec Stat
correct? reted by livere-m P
1S not
(@)

(b)

(c)

(d)

105. The blood pressyre
being is found t,

pressure at

(@)

(b)

(c)

(d)

Bile Containg o

of lipids, Ymes for digestion,

Bile facilitates

fats. *MUlsificatiq,, of

Bile neutrgl; _

the food Comin from :tl:)i:r‘i p}t{ f
ac

of a nonna] human
be 120/80 mmHg,

ventricular contraction and

ventricular relaxation, respectively

ventricular relaxation ang ventri-
cular contraction, respectively

auricular contraction and auricular
relaxation, respectively

ventricular contraction  and
auricular contraction, respectively

106. A person burned a firecracker in front of
a cliff and heard its echo 5s after it
burst. The distance of the cliff from
the person, if the speed of the sound
is 340 m/s, is close to

(a)
(b)
(c)
(d)

1700 m
170 m
85 m

850 m

39
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107, Consider the following statements about

the microphone and the speaker of
a mobile phone :

1. The microphone converts sound to
a mechanical signal.

2. The microphone converts sound to
an electrical signal.

3. The speaker converts a mechanical
signal to sound.

4. The speaker converts an electrical
signal to sound.

Which of the statements given above are
correct? '

fa 1and 3"
(b) 1 and 4
() 2 and 3
(d) 2 and 4

108. A 100 W electric bulb is used for

10 hours a day. How many units of
electrical energy are consumed by the

“bulb in 3 days? (I unit =1 kWh)
(a) 3-00

(b) 1-08
(c) 2-16
(d) 033

109. The area under the velocity-time graph

for a particle moving in a straight line
with uniform acceleration gives

(a) its average velocity
(b) its net displacement
(c) the distance travelled by it

(d) its average speed

[P.T.O.



110, 10 om Bw A 4 A gl R7
(@)
(b)

01 TR~ ‘w\ @
1 mm xre
o) 10 SRATR

(d) 100 ERATHR

v

11 77 ¥ Yifem feq % wn @ Gl
WMWWW:
1. MgO # ¥a i e R|
2. TR I AR T SR B
3. I R v I A R
T 3§ B2 T
(@ ¥ 13k
(b) Faa 1 3R 3
() ¥ 2R3
(d 1,23R3

112. = & 7 sl ¥ dey § $R-8 T 96
£
CaO(s) + H,0() - Ca (OH), fag) + ST
L @ w own ded o
fore fopa sman 3
2. @@%mmmm-ﬁm%
foru foram <man 3

3. d&ml W caCO; A vaeh wa TR ¥
few ca0 amy # frmmm o, ¥ Wy W
g & sfifrn @ &)

I T A A T e g
F e N R

2 faw o oz 1 A wd o
(a) Fad 1 3 4

(b) 2 ¥4

€ 233

Ad) 1, 334

_A.
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113, T T XS T T F qg
muﬁﬁﬂﬁﬁéﬁﬁm‘ﬁa

1. Now‘m%(fume)ﬁmé""
0. TR 0, Ta fked 3
3. %uﬁﬂﬂwﬁmmv%

4. T NO, M ¥ Iqmeq 3 i
qqEet (thermal decop,

'
postlfr‘
T JEE ¢

A3 Fe TR AT
(@) 13R2

(b) 2,334

) 1,334

(d) Faat 2 3R 4

114, Refofes & § #-d st aii?
&7

(@) TR RS G
_(b) W Srqw @ra

() Taaiftan (Rancidity)

(d) <&




)

1.

 The power of a lens of focal

10 cm is length
(a) 0-1 dioptre

() 1 dioptre

(c) 10 dioptre

(d) 100 dioptre

Consider the following statements

regarding burning of magnesium ribbon
in air :
1. White powder of MgO is formed.

2. It is an example of combustion
reaction.

3. Heat and light are produced.

Which of the statements given above are
correct?

(a)
(b) 1 and 3 only
(¢ 2 and 3 only
(d 1, 2 and 3

1 and 2 only

2. Which of the following statements with

regard to the reaction given below are
correct?

CaO(s) + H,0(l) = Ca(OH), (ag) + Heat

1. Quicklime is- used for white-

washing of walls.

2. The solution of slaked lime is used
for whitewashing of walls.

3. CaO reacts slowly with CO, in
air to form a thin layer of CaCOjy
on walls.

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound.

Select the correct answer using the code

given below.

(a) 1 and 4 only
(b) 2 and 4

{c) 2 and 3

(d 1,3 and 4

NBY-D-GNL/59B
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gtatements with

. i he following
113. Which of the 4 nitrate powdef

regard to heating of lea

over a flame are correct?

1. Brown fumes of NO are releascd.

2. Colourless O, gas is released.

example of oxidation

3. It is an
reaction.

4. It is an example of thermal
decomposition used for the
production of NO, gas.

code

Select the correct answer using the
given below.

(@) 1 and 2

(b) 2, 3 and 4
(c) 1,3 and 4
,(d) 2 and 4 only

114. Which one of the following is not an
oxidation reaction?

(a) Rusting of iron
(b) Opening of soda bottle
(c) Rancidity

(d) Combustion

PTG,
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115. NRa & ws uew % ar &, foafofaa @k 118. 2011 1 W % AN, fee
(chues) W fagn #ﬁﬁvﬂl : Eﬁh-m/ﬁq_ﬁ I @) %/ﬁ? ﬁﬁ'l”
L S8 'S 3 i e werfeat e gf’ k. Qmaﬁﬁ’a\'m%mm

+ ¥ § qE= @R ﬁm’“mm’fﬁ%l
2. TR ORA F @ A} f9 -anFha 1w 2. “‘“a"mm%aﬁ@%

(division) #1 SN forel o T RRE R o ?h‘;a;
3. TR W F PO AFA F I 239 %@ﬁm%’qﬁmm‘ﬁ\ﬁ
ﬁﬁﬂﬁuﬁ%mmmmﬁw @ ¥l
(@) FHieH (b) F= 2
(b) 3Ty W= (c) laﬂ'{'Qﬁ
(c) 38y (d) T 1M 0
(d) e

119. m%mﬁmﬁaﬂqaﬂtmh‘

116. F=fafes & ¥ e Twa-aqe 6 @t I8 B Feh- Y@ TR 27 |

'@E”Wﬁ%? zlf"‘4|f.;sﬁ_

_ (@ 137 3
(a) aﬁ%m,anﬂm,aﬂfzai,mrg >
(b) TR, Ay wW, FAleH, Ty WM &) 236 '
(c) shfem, sty ww, wfes, wer wim (@ 23Rs |
(d) BHtETE, Ay w3, Flew, TEWE (d) 335
~

117.@ﬁaﬁﬁﬁaﬁm%mﬁﬁs@aﬁaﬂ IZO.WﬁQﬂﬁﬁEﬁH-?ﬁMW?T
fafim <fiel, T, drwes, arOA, e

i yferz # o e fon| 3 e o ¥
9} T ot & s ey (@) wm R A g,
(o) sy, i, e, g e

(b) uforgy, A, sty waw, dfterrg (b) wwm win W e 9fE

(c) T, sm, Fxa, afterg (c) Hz1-9fd A s

(d) Tasiim, swm, sty wen, qftaarg (cd) AV 6l IAR EW
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5. Consider the following clues about a
State of India :

1. Itis known as 9and of red river and
blue hills’.

2. It contains three of the six

physiographic divisions of India.
3. It covers about 2:39 percent of
total areas of the country.
Identify the State on the basis of the
given clues.
(a) Karnataka
(b) Andhra Pradesh
(c) Assam
(d) Chhattisgarh

6. Which of the following sets of States
shares boundary with Telangana?

(a) Odisha, Andhra  Pradesh,
Karnataka, Maharashtra

(b)) Chhattisgarh, Andhra Pradesh,
Karnataka, Madhya Pradesh

(c) Odisha, Andhra Pradesh,
Kamataka, Madhya Pradesh

(d) Chhattisgarh, Andhra Pradesh,
Karnataka, Maharashtra

7. Rani told her friends that last year she
did boating in four different lakes,
namely, Loktak, Barapani, Kolleru and
Pulicat. Which of the following States
did she visit?

(a) Manipur, Meghalaya, Kerala,
Tamil Nadu _

(b) Manipur, Meghalaya, Andhra
Pradesh, Tamil Nadu

(c) Mizoram, Assam, Kerala,
Tamil Nadu

(d) Mizoram, Assam, Andhra Pradesh,
Tamil Nadu

BY-D-GNL/59B
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118.

11
According to the Censu s 201 ,1»,- co rect?
the following statements IR ad put
1. A person who can G, ::"
cannot write, is not g g ane
2. A person aged sever yf:”ar(; and
above, who can both rel any

write with urldefstandI.ng
language is treated as

; the €
Select the correct answer using

given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

119. The Tropic of Cancer passes through how

many coastal and landlocked States
of India, respectively?

(@ 1 and 7
(b) 2 and 6
(c) 2 and S

(d 3 and 5

120. Which one of the following situations can

lead to inflation?

(a) Rapid growth of aggregate demand
outweighing supply

(b) Sluggish growth of aggregate
demand

(c) Reduction in the money supply

(d) Higher levels of unemployment

[ P.T.O.
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